
NMU 082 - V01 - 02/2023

ÜBERSTEIGE

EDACIER 45

MONTAGEANLEITUNG



Montageanleitung - Übersteige EDACIER 45 - V01 - 02/2023

M14x35 (x4)

M12x100 (x4)

M8x60 (x8)

M8x60 (x8)

M8x45 (x4)

M8x45 (x8)

M14x35 (x4)

M12x100 (x4)

M8x60 (x16)

M8x45 (x12)

VISSERIE

M14x35 (x4)

M12x100 (x4)

M8x60 (x8)

M8x60 (x8)

M8x45 (x4)

M8x45 (x8)

M14x35 (x4)

M12x100 (x4)

M8x60 (x16)

M8x45 (x12)

VISSERIE

SCHRAUBEN MITGELIEFERT
M12 x 100 (x4)

M8 x 45 (x12)

M8 x60 (x16)

M14 x 35 (x4)

FORTAL - Z.I. du MUCKENTAL - F-67140 BARR
& : +33 (0)3 88 58 53 53 -  : +33 (0)3 88 58 53 54 -  : info@fortal.fr


